

11.1.

$$2x^2 + 3xy + y^2 + x = 1.$$

$$y = -x - 1 \quad y = -2x + 1.$$

10.2.

11.2.

$$x^3 + 64y = y^3 + 64x,$$

?)

9.2 10.3,

$$x^2 + xy + y^2 = 64.$$

, $x = 2x_1, y = 2y_1$

$$x_1^2 + x_1y_1 + y_1^2 = 16, \quad x_2^2 + x_2y_2 + y_2^2 = 4,$$

$$x_3^2 + x_3y_3 + y_3^2 = 1, \quad (9.2).$$

11.3.

d , N , P Q ($PQ < MN$).

$l_{PQ} < MN$, l_{PQ} P Q , N

$\alpha = \angle MAB, \beta = \angle NAB, R - s < r$.

$$2R \sin(\alpha - \beta) < 2R(\operatorname{tg} \alpha - \operatorname{tg} \beta) \Leftrightarrow \sin(\alpha - \beta) < \frac{\sin(\alpha - \beta)}{\cos \alpha \cos \beta}, \dots \cos r < 1,$$

$$\cos S \leq 1, \quad N, \quad \beta - \beta$$

$$2(\alpha - \beta) -): R(2(\alpha - \beta)) < 2R(\operatorname{tg} \alpha - \operatorname{tg} \beta) \Leftrightarrow \operatorname{tg} \alpha - \alpha > \operatorname{tg} \beta - \beta.$$

$$0 \leq \beta < \alpha < \frac{\pi}{2}.$$

$$f(x) = \operatorname{tg} x - x \quad x \in \left[0; \frac{\pi}{2}\right), \quad f'(x) = \frac{1}{\cos^2 x} - 1 = \frac{1 - \cos^2 x}{\cos^2 x} \geq 0,$$

$$f'(x) > 0 \quad x \neq 0,$$

N , PQ , MN ($\beta = 0$).

11.4.

$$= 2,$$

$$y = -\frac{1}{4}, \quad (a; b) - M_1(x_1; x_1^2), M_2(x_2; x_2^2) - M_1$$

$$y - x_1^2 = 2x_1(x - x_1) \quad (x^2)' = 2x).$$

$$x_1^2 - 2x_1a + b = 0.$$

$$x^2 - 2ax + b = 0, \quad b = x_1x_2.$$

$$(2x_2) = -\frac{1}{2x_1} \Leftrightarrow x_1x_2 = -\frac{1}{4}, \quad b = x_1x_2 = -\frac{1}{4}.$$

11.5.

5 ,

7

10.5.